PROFESSIONAL EXAMINATION BOARD

Police Constable Recruitment Test - 2016
31st July 2016, 03:00 PM

Topic:- General and Logical Knowledge
1)

Question Stimulus :-

Narmada and Tapti drain into the sea through a deep channel called ./ Feer 3T arwdt U e ¥4 & HIEHH
s ¥ fierdi 8, Se wgd 8|

® Flood Plain / dTg

® Estuary/SdIR

® Delta/ Tﬁﬁ DT qelHl

® Bridge / Ydl
Correct Answer :-Estuary / SdI¥
2)
Question Stimulus :-

1. A,B,C,D,E,F and G are sitting around a circle and are facing the center. / A,B,C,D,E,F 3R
G IR P IRI AR 43 § R Te7 FT AR T@ HL 2|

2. G is second to the left of C, who is to the immediate leftof F. / G, C & It &ﬁ?m%, S F
& 3d o 3R ?

3. A is third to the left of E / E & a1If 31k A T RT &

4. B is between D&E / B, D 3\WE & §i9 8

Which of the following has the middle person sitting between the remaining two? / fadd
5oy wen sfe @ ot a1 31 & o9 d doT1 72

* FCE
* EFB
* DEB

e None of these / $9H ¥ ®Is 8!

Correct Answer :-None of these / §70 & ®Is g1



3)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fowe

gheiab sl AR R wsm FTu= e :

If you are a journalist, then you can write well / gfe 3y THh tﬁﬁb‘l?%', ot 3y 33T for " %

e If you are not a journalist, then you cannot write well / af¢ 317 T% TIHR T8 €, l 37
331 1 fore g d §

e If you can write well, then you are a journalist / gfe 3mg 33T forg A& %, ¥ emy Th
TIPR &

e If you cannot write well, then you are a journalist / Tf¢ 3T 33T &) forg I&d &, af ey
TP TAPR &

e If you cannot write well, then you are not a journalist / Tf¢ 37 33T g} forg ¥&pa §, ot
Y TH TAPR 81

Correct Answer :-If you cannot write well, then you are not a journalist / gfe 3ma 33T =re?r

fre woa ¥, 9t oMU Te PR TS

4)
Question Stimulus :-

Priyadarshini Point in Pachmarhi was also known as . tﬁITI'Gﬁ # faelRih WT%E‘ Cal ¥
A W SET ST o |

* Rajendragiri Sunset Point / ITASRRT G4 Ulge
® Forsyth Point / BRGY Uige

® Irene Pool / ansﬂqq?r
e Chauragarh Peak / TSTE €I

Correct Answer :-Forsyth Point / BRRYY uige

5)
Question Stimulus :-

City Fruits orders Apples from Himachal Pradesh. The transportation cost of apples is
Rs.200 per kg and cost of storing them in a cold storage is Rs.100 per Kg. Right now there
are 100 Kgs of apples in the storage. City Fruits plans to place an order. / "ﬁlfrm 3
RTae Y3 & A9 HTATg ¥1 A9 Y URaET anTd T fFal 200 FUT § AR ITH) Fies WRS | HIT B
¥ arTd ufa fFem 100 =T 21 3l HsRur & 100 framm 9 €1 R peg ardR 39 F dien



T 2

Suppose loss due to unavailability of apples if demand is high is Rs. 1000per kg, how much
will the store stock and what will be his expenses if the demand fluctuates between 500 kg

to 1000 kg? / U AT afe AT Sifte B, @Y A9 B SUARAT $ HRUT 1000 FUd Ui fFat JHam
gia1 8, gBM fhaeT HUSRUT HwT 3R I9Y faw W g, afe @it 1000 frat ik 500 fFeat & &g
il 3g<ll 82

* 1000 kg, Rs. 3000 / 1000 f¥dl, =UT 3000

* 500 kg, Rs. 1500 / 500 f&el, ¥Uq 1500

* 400 kg, Rs. 1200 / 400 f&@l, ¥U¢ 1200

* 400 kg, Rs. 1000 / 400 f¥dl, ¥UT 1000
Correct Answer :-1000 kg , Rs. 3000 / 1000 f&dl, ¥UT 3000
6)
Question Stimulus :-

Who is the first foreigner to be awarded the Bharat Ratna? / HIRd ¥d ﬁ Tﬁ'lﬁ 11'& 113?{ ﬁ%@ aﬁ'—r %:?
® Nelson Mandela / I&I- HSdl
¢ Khan Abdul Gaffar Khan / @I 3fegd THRPIR W
® Mother Teresa/ WG el
® Martin Luther King / e qUR &
Correct Answer :-Khan Abdul Gaffar Khan / €T 3legel THEPIR W
7)

Question Stimulus :-

Hari Prasad Chaurasia is a famous player of this instrument / Gﬁ' '3 ) iﬁ?ﬁﬁﬂ L) GICUE] & Udh m diqe %

® Flute / TG

® Shehnai / 'Q'IET-I'IQ

® Nadaswaran / ATGIRARUT
e Sitar / AR

Correct Answer :-Flute / Sigst



8)
Question Stimulus :-

This man, who is the present RBI governor, rightly predicted the 2008 global recession / Ug =fad, &t gidue #
HRATA Red 9 & TaR 7, IR 9§ 2008 s #d F1 uigsanft #i:

® Raghuram Rajan / YYRTH oA

® Amartya Sen / 3 I

® Manmohan Singh / T HIE Rig

® Jagdish Bhagwati / SATEIRT HITaat
Correct Answer :-Raghuram Rajan / YT I
9)

Question Stimulus :-

Find the word that represents the category of the following three words. / dg Rleq JTd PIford
it frg i <regt a1 ot a1 guifar @

Novel, Epic, Drama / 3URI™, HgIP A, Alch
° Subject/ﬁ'q'q
® Literature/ '\‘IT%W

® Poetry / BIY

® Knowledge /T

Correct Answer :-Literature / 9Tfgd

10)
Question Stimulus :-

Which of the following is no longer a “Fundamental Right” as enshrined in the Constitution of India? / e 73

S 91 "Hifed PR & w0 F WRa & dfaur d fifga 76t wwman a2
® Right to freedom of speech / w Sfiaafaa &t wadadr & ﬁrq
® Right to the choice of religion / & gATd BT SfYPR
® Right to property / Iufxt &1 R
® Right to constitutional remedies / w HauTf~Ie IR & ﬁl'({



Correct Answer :-Right to property / FURI BT SHTUBR

11)
Question Stimulus :-

The artist who is credited with being the creator of a new school of Indian art called ‘Jangarh Kalam’ is / ‘SI-{l@

HAH" Bl I arelt HIRAH et & =g faeme & fmfar & Su d 99 urw fReer §
® Jangarh Singh Shyam / SI-il@ Rig T
® Jagdish Swaminathan / SIS WTTHATYA
® Venkat Raman Singh Shyam / dPpe T ﬁl? [[qrH
® Bhajju Singh Shyam / H f¥ig Tamq
Correct Answer :-Jangarh Singh Shyam / SI=RT¢ g =amq
12)

Question Stimulus :-

The jumbled letters of words are given below. Each letter has been humbered. Choose the
option which gives the correct order of the letters as indicated by the humbers to form

meaningful word. / I & afRyd &R 9 RA T 81 s 3R & Jwiferd far T g1 98
fawer g =t e g B w1 & o T=mmsit & w0 # serl 1 Tt HH a1 3

RTEODP

123456
e 1,3,56,4,2
* 2,3,1,6,4,5
e 53,64,1,2
* 6,3,5/1,4,2
Correct Answer :-5,3,6,4,1,2

13)

Question Stimulus :-

The desert region of India can be divided into _and __. / HIRd & IRaE & Bt _ 3R _ﬁ favnfora fear
T HHT 2

* Big desert, little desert / §ST ¥R, 3 YU® IR



® Big desert, small desert / Wmﬂ, Brer YRRar
® Great desert, little desert / ﬁ'ﬁ'ﬂﬁiﬁﬁﬁ, 3P IR
® Great desert, small desert / ﬁ?ﬂﬁiﬁﬁﬁ, Brer I
Correct Answer :-Great desert, little desert / fa=Ime YIRRATH, 3rfdres IR

14)
Question Stimulus :-

Who is the Chairperson of Film and Television Institute of India? / HIRTd ﬁfﬁl}l’ T4 cellfae LIRS &
YT B 82

® Anupam Kher / 3 JUH W
Kiron Kher / fe-1 @

Mukesh Khanna / 'ﬂ%"ﬂT AT

® Gajendra Chauhan / Tlﬁ? iﬁ?l:l'
Correct Answer :-Gajendra Chauhan / UEEEIHE
15)

Question Stimulus :-

In the following question, some group of letters is given, all of which, except one, '
share a common similarity while one is different. Choose the odd one out. / g uy ﬁ,

%Wﬁﬁmﬁ%w%&nﬁ%)ﬁmﬁ,mwﬁ@w,w%'mwm% | faww are +t
I

e DW
e HS
e MN
e KO
Correct Answer :-KO

16)
Question Stimulus :-

Under which Mughal ruler’s reign did the “petticoat government” period exist? / fopT TSl IMSIT & AMHADBTA B
g g p g p



® Akbar / PhdR
e Jehangir / SIEITR
® Shah Jahan / RMTg \_rlﬁ

® Aurangzeb / AN

Correct Answer :-Akbar / {®HdaR

17)
Question Stimulus :-

Arun ranks 6P from the end in a class of 16. Find out his rank from the top / 16 BT Bt
TP BT H 3 Bt Sifaw I BT Aoft e g3 1 W I TS Avft Bt g1 B

o 11th /114

o 12th /17

e 10t /10

o gth /g4
Correct Answer :-11th /11 §f
18)

Question Stimulus :-

In the following question, there is certain relationship between the first two words. Choose
the fourth word from the following options which has a similar kind of relation with the

third word. / 9 vy ¥, UgQ Y Wreal & S el R &1 ey 3| A Qe & § =@t o gfha
a1 TR 3 & 1Y I UPR B1 WY g

ASHES : FIRE :: EXTINCTION : ? / @ : 3(f¥f :: faqiu=1 : 2
e LIFE / Sftaq
e BIRTH / &
e DEATH /9
e GRAVE / &4

Correct Answer :-DEATH / §g

19)



Question Stimulus :-

In the following figure, rectangle, square, circle, and triangle represent the regions of
wheat, gram, maize and rice cultivation respectively. / 5L Wﬁ ﬁ, 3ITd, EITf, qd 3R i
HUL: T, T, 0SHT 3R T19d I Well & &F HI a0 &

i

e
e’ 9

6 7 11“1
/ 10

8

Which area is cultivated by rice and maize and nothing else? / PIAT &7 I19d 3R AP S
o foasdt &t oft St =& H=ar 2

e 9

Correct Answer :-2

20)
Question Stimulus :-

Pointing to a photograph, Rana said to Bakshi, “He is Bullu, my only brother. And Krishan is his eldest brother.” What
can Bakshi logically infer from Rana’s statements? / Wm G| aﬁ!g&lm A 8Y, XTUTT  g==it ﬁﬁ, "dg
I 8, AT SHaArdl HTS | 3R P 3% a4 98 HTS ¢ |" T&RI a& Ft = A Ion & s A 41 e
I AHL 32

® Ranais the sister of Krishan / XTUTT ST &1 951 g |

® Krishan is the brother of Rana / PT ITUIT BT 'H'Ig%l

® Bullu is the youngest of all /Qﬁmfﬁﬂ %I

® Rana is making contradictory statements / XTUIT Ry WW@ %

Correct Answer :-Rana is making contradictory statements / ITUIT fRvf g s ?ﬁ %



21)

Question Stimulus :-

Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E U™ aﬂﬁﬂﬁm IBE] % -
1. A, B and C are in Indore and Bhopal. / A, B 3R C Ea?@ Q-ﬁ'ﬂ'l?rﬁ'%'l

2. A, B and E are in Indore and Gwalior / A, B 3R E &R Uq WIfeaR # g1

3. B, C and D are in Raipur and Bhopal. / B, C 3R D J0QR T4 Hiurd & g1

4. A, E and D are in Gwalior and Jabalpur / A, E 3R D TIferaR Ud SeayR § 1

5. C,E and D are in Raipur and Jabalpur / C,E 3R D I0QR T4 FeaQR # g1

Branch of which bank is in all places except Gwalior? / & 9% & zmaEr @iferR & rarar gaf
SATEl § 82

e A
e B
e C
e D
Correct Answer :-C

22)
Question Stimulus :-

The national game of India is / HIRd BT Tl'grq Qqdag
® (Cricket / fopde

® Mallakhamb / HOGd

* Kabaddi / PES!
L Hockey/E\fHﬁ

Correct Answer :-Hockey / 8!

23)
Question Stimulus :-

Bharathi is 8 ranks ahead of Divya who ranks twenty sixth in a class of 42. What is

Bharathi’s rank from the last? / 42 Bl P Th HET H YRt ﬁTﬂT q 8 WH SITPI%I qﬁﬁ?iﬂ G|



R B&T | R A 26 8, a1 URdl &1 - 1 F 1 82
o oth, gdl
e 24th / 24qi
e 25th /55T
e 34th /347
Correct Answer :-25th 7 25T

24)

Question Stimulus :-

Following are the three positions of a cube. /ﬁ?ﬂqﬂﬂ o= Rufeai %

TOM RON
TN JIN
JACK TOM
15t view 2ud yigw
RON
NEAL HIEE
31 view

What is the name in the face opposite to the face having name MEL? / MEL HITH B & AR Tad W H I
1| 32

* TOM
® RON
°* JiIM

® JACK

Correct Answer :-JIiMm

25)



Question Stimulus :-

The capital of Magadha was / HITY B ISy A
® Taxila / &R
® Pataliputra / q'l??ﬂ'ﬁﬂ
® Mathura / HYIT
® Patna / UCHI
Correct Answer :-Pataliputra / UTCaiIqs
26)

Question Stimulus :-

The autobiography of Dr. A.P.J. Abdul Kalam is . /?:'TE = 3o el HeTH B STHABUT . %I
® Ignited Minds / SUTSCS ATSE
e Spirit of India / FRURe 31w SfEaT
® Wings of Fire / T 3T BRR
® The luminous sparks / ¢ ﬁﬁl‘lﬂ' TTRY

Correct Answer :-Wings of Fire / fdi 3iTth BTaR

27)
Question Stimulus :-

Who among the following was a gold medalist at the 8™ International Shotgun Cup 2016? / Fufafea d
q P 891 JRITHT Wi $U 2016 HT WUl UgH fIwiar um?

® Mansher Singh / mﬁrg
e Ratnesh Pandey / AR UTUSH
e Harshita Tomar / Fﬁ?ﬂ awR
® Manisha Keer / 9T R

Correct Answer :-Manisha Keer / #I9T ®X

28)

Question Stimulus :-



First railway in India ran from ./ YR ¥ 999 Ugd Yerd q?’fﬁ_ 'qgiﬁ il
® Bombay to Pune /?sia'é T Fawl

® Bombay to Thane /Eiag J 3101
® Bombay to Kurla / aa% | Qﬂf

® Bombay to Calcutta / aai T paBl

Correct Answer :-Bombay to Thane / §§5 J 3T0I

29)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg ICCaR ﬂﬁ'E
<t fRT U Sy vd Frepuf F R ¥ 99 7

Statements: / PYH:

All songs are poems / 94 T $faang g
All poems are operas / T4 Hfaang T 3
Conclusions: / fawpd:

I. All operas are songs / 9" 3RTTH &
I1. All songs are operas / 4t TH 3T &

® Only conclusion | follows / *Had frsed 1 fApaar %

® Only conclusion Il foIIows/WﬁWﬂf n feremedn %

® Both conclusion | and Il foIIows/ﬁWﬁf I Gﬁ? II 't‘ﬁ:ﬁ' ﬁlﬂﬁ %

e None of the conclusion I or II follows / Fpd I T1 11 & A g ¢ Fpaar g
Correct Answer :-Only conclusion Il foIIows/aﬁﬁﬁW& Il ﬁﬁ)_cl?ﬂ %
30)

Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg fawe
g, ab SR IR R FE FIuA 2 -

It is not true that both Kavita and Savita are MBA aspirants. / g 94 T-Iﬁ% f» ofaar ok afaan
3 € Ta.dhT anadf &



Kavita is not an MBA aspirant or Savita is not an MBA aspirant. / &fddl TH TH.§1.T
Srgdf 7Y 8 a1 afaar ve v, dt.w srvaeff 7Y 31

Kavita is an MBA aspirant and Savita is an MBA aspirant. /WWQ’H.@.R G{Wﬁ%
3 afqar v wa.dh.u snadf g1

Kavita is an MBA aspirant and Savita is not an MBA aspirant. /WWQ‘H.@.Q
3l 8 ik Tfear v wa.d1.u srgdff A 81

Kavita is not an MBA aspirant and Savita is an MBA aspirant. /WWE‘H.@.R
3 dff 7Y 8 oMk wfaar us ww.dt.u snadf @

Correct Answer :-Kavita is not an MBA aspirant or Savita is not an MBA aspirant./

Pfadr T TH.d1.T gl =Y @ a1 afadr vep wH.d.u araff 98f 21

31)

Question Stimulus :-

Mohamud Khilji’s tomb is located at__./ HeH{a& et &1 o9 W Rz

Mandu / 'FIT_§'
Raisen / IA9T
Asirgarh / G@W

Rajgarh /IS¢

Correct Answer :-Mandu / /g

32)

Question Stimulus :-

What is the day on 29th May 1993? / 29 HS 1993 &I &I 4T fa 82

Tuesday / AR
Monday / THAR
Wednesday / qUdRX

Thursday / T¥dRR

Correct Answer :-Thursday / T¥dRR

33)

Question Stimulus :-



Education was transferred to the Concurrent List from the State List by the / e ot I ﬁih | H’Hﬂ?ﬁ'\‘f{ﬁ

¥ RFiaiva _ gRT fpar

* 40™ Amendment Act / 40 d e Sty

o 42"Y Amendment Act / 42 & TR rfufraw

e 43" Amendment Act / 43 & TR Srfufraw

e 39" Amendment Act /39 d HRNEA Srfuferaw
Correct Answer :-42"9 Amendment Act / 42 & TRV Srfuf~rad
34)

Question Stimulus :-

The maximum density of canal is in which of the following States? / frrafafed = o 9§ fead e @1
faw a@ 32

® Tamil Nadu / AFHETg

e Uttar Pradesh / 3% USRI

® Punjab / USTTd

e Andhra Pradesh / 318 We=T

Correct Answer :-Uttar Pradesh / 39X Uc®I

35)
Question Stimulus :-

If its cookie and coffee then you get mileage and speed. You get mileage but not speed

then it wasn’t coffee./éﬂﬂﬂ?ﬁ?ﬁﬁaﬁ?ﬁ'ﬁ%ﬁmﬂﬁaﬁéﬁ?ﬁmﬁ?ﬂ%l 3TUh!
ATgaw faear g dfe fa 8 frerdt § o ag Siwt 381 d¢

* True / Tgl

°* False / dd

* Maybe / & W®dT 3

e Irrelevant / 3MRIfI®

Correct Answer :-Maybe / 8 I&dT &

36)



Question Stimulus :-

Which of the following is a major port on the west coast of India? / fafafea A AP I IR F Ui aew
TS T S8 82

® Pondicherry / TIT%%'\FT
® Visakhapatnam /ﬁ'Q'I'IETCﬁFITI

® Chennai /ﬁa's‘
° Mangalore/ﬂ"T?ﬁ?

Correct Answer :-Mangalore/ﬁ"'l?ﬁ?

37)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg foweu

g ah st AR REwHFsE FITu= 2 :
If it is round, then it is a ball. / 9f¢ g MaT®R 8, At 98 TS < 2|

e If it is not round, then it is not a ball. / tr%u's'rhwqé’r%, ?ﬁﬂ's’@ﬂ??ﬁ%l
e Ifit is not a ball, then it is not round. / If¢ 98 T& ¢ 78] g, df g8 MaTdR "8I gl
e If it is a ball, then it is round. / afg 9% g &, a1 9§ MAPR gl

e None of the above / B’@Hﬁﬂ-ﬁiqﬁ

Correct Answer :-If it is not a ball, then it is not round. / ﬂ'%ﬂ's’@ﬁ?ﬂﬁ%, a g
MATHR &l 3

38)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ilﬁ'l{
it faw e Sy vd fFrepul F R § 99 7

Statements: / ®Y-:

All candles are lanterns / I} HiHexR AT @
All lanterns are bulbs / It AT W%
Conclusions: / fAw:

I.All lanterns are candles / W e MAER %



II.All bulbs are candles / I o9 HiHeRT &
® Only conclusion I follows / Wﬁwcf I fFraar %
® Only conclusion Il follows / Fad ey | Fwaar %
® Both conclusion I and Il foIIows/T:ﬂT-ﬁ frepd 1 3R 11 e %
® None of the conclusion I or 1II follows / ey 1 a1 11 ﬁﬁﬂﬁg ﬂ%ﬁﬁm%

Correct Answer :-None of the conclusion I or II follows / A 1 arII & & Eﬁ's‘ T3t Frpadr
?

39)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 fase gfQ
St f3T T FyAY vd fewul & I § 9 8:

Statements: / ®Y-:

All travels are buses / W a1 9& &
Some travels are lorries / $© IHATSA &
Conclusions: / fassd:

I. Some buses are lorries / $9 THIAE

II. Some lorries are buses / 8 3d aﬁ%

® Only conclusion | follows / *Had frsed 1 fApaar %

® Only conclusion Il follows / *ad freed 1| Feadr %

® Both conclusion | and I foIIows/Eﬁ:ﬁ foreed 1 Gﬁ?' II fAead %’

e None of the conclusion I or II follows / Fpd I A1 11 & A g ¢ Fpaar g
Correct Answer :-Both conclusion land Il folIows/E’F-ﬁ ﬁWﬁf I Gﬁ? II ﬁﬁa %

40)
Question Stimulus :-

Who founded Nalanda university / qreiar ﬁ%ﬁiﬂm B RITYAT fraq $12
e Kanishka / B



® Ashoka / arszﬂw
® Chandragupta / W
¢ Kumargupta / PHRIW
Correct Answer :-Kumargupta / PHRIG

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

If *‘GASP’ is encrypted as ‘KMRO'’ and 'CROW'’ is encrypted as ‘AXYZ’ then how will
‘SPARROW’ be encrypted as? / df¢ ‘GASP’ &I '‘KMRO’ ¥ THf%hy frar wam g ik *CROW’ &1
‘AXYZ’ ¥ Ty fhar a1 8, 99 *'SPARROW’ &1 &4 TP fhar sam?

e ROMXXYZ

e ROMZYYX

e TRCTTOY

* VSDUURZ
Correct Answer :-ROMXXYZ
2)

Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FAHR S@AT B TR B :

17,19,23,29,

e 37

° 34

® 35

® 36
Correct Answer :-37
3)

Question Stimulus :-

A road work can be completed in 3 months by 20 workers. How many more men would be



needed to complete the same work in 2 months? / T I8& 1 20 WWB el § AT
frar o1 wear 31 39 2 HEH H AW $A & Y iR e sme 3t srazamar gRfl?

® 15

® 10

® 25

° 30
Correct Answer :-10
4)
Question Stimulus :-

If ‘RAM IS A GOOD BOY’ is coded as JUQ SV U RZZL KZN’, then ‘DOOR'’ is coded as: / ?T% ‘RAM IS A GOOD BOY’ ﬂ'ﬁ

quQ sV U RzzL kzN’ & Hifed far Srar 8, @1 ‘Door’ &) U/ wifsd fHar wram:
* 172
* ZLL
* KVQ
* JuuQ
Correct Answer :-172
5)
Question Stimulus :-
Find the value of ’C, / 7C2 &1 91+ ferferd
°* 21

* 14

e 35
Correct Answer :-21

6)

Question Stimulus :-



Complete the series choosing the missing letter/s: / ﬁﬁq &R AP AT B T Hﬂm tab_bc_c_b_bc
® caaa
® acaa
® caac
® aaca
Correct Answer :-caaa
7)

Question Stimulus :-

How many triangles are there in the following figure? / g GﬂTﬁf # foraa Bt %.?

5
e 6
7
e 8
Correct Answer :-6
8)

Question Stimulus :-

The average of numbers between 100 and 180, which are multiples of 9 is / 100 3R 180 &
a1 & el # St 9 & I €, ITPT 3iud @

* 140

* 144



® 153

°* 147
Correct Answer :-144
9)
Question Stimulus :-

There are four alternatives for the following question. Find out the correct one. / fauy &

ferg IR fawey ¢ wet e gy

i. '"Quo Cui Heer’ means 'Boy is Good’ / ‘Quo Cui Heer’ &T Hddd % ‘Boy is Good’
ii. ‘Lai Quo Mea’ means ‘Meena is fair’ / ‘Lai Quo Mea’ WW% Meena is fair’
iii. ‘Ruo Lev Mea’ means’ ‘All are Fair’ / ‘Ruo Lev Mea’ &1 'FI?IFI'Q'% *All are Fair’

iv. 'Si Hai Cui’ means '‘Dog was good’ / 'Si Hai Cui’ P AIAS 8 ‘Dog was good’

Which of the following encryptions stands for Boy? / 94 uf<ru==i & ¥ Boy & i &1 @1 82
®* Quo
® Cui
®* Heer
* Lai
Correct Answer :-Heer

10)
Question Stimulus :-

In an isosceles triangle, two equal sides are three times the third side. One of the sides of the triangle is / T Wﬂﬁﬁ'@'

By ¥, 31 e yomg St yor B i T ) Bys Foe yen

Correct Answer :-8



11)
Question Stimulus :-
7

11 7 11 1

1 11 1
_— 4;,[af{ﬁ-liz—ﬁrl}l/wﬁf’nﬁm: ~ B <= (6(— - )
)
.0
e 1
. 3

Correct Answer :-1

12)
Question Stimulus :-

What is the chance that a leap year selected at random will contain 53 Sundays? /WW%% fffrgadna
Tafa T diu oo fora# 53 Afaar wnfre 82

°* 1/7

e 3/7

°* 2/7

® 6/7
Correct Answer :-2/7
13)

Question Stimulus :-

How many minutes does a car take to cover a distance of 200 m, if it runs at a speed of 60 km / hr?/ 'Clﬁ' TP hR 60 fevy

HeT 3t T I gadt g, df 200 W BT g8 B 99 FA | ITD! b+ fBTe T

Ly | -
| =

° min/ - fe

4 4
L min / e



1
3

° min/ f¥e

1 1

o 6min/6ﬁl_—IZ'

Laa| =

._.
L] =

Correct Answer :- - min/ ° fi9e

14)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW 31&R AP 4TI HI [T HIOITC : aa
_bba_abb _ab _aa_ab

® abaabb
® abbabb
® bbabba

® bbaaba

Correct Answer :-abaabb

15)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / g i3 T aR tai & ¥ R A T va & St 9= o9 91 v T 82

Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

(i) Madawaska Kanu Center
Box 635, Barry's Bay

Ontario KOJ 1BO



(613) 756-3620

(416) 447-8845

(ii) Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

(iii) Madawaska Kanu Center
Box 635, Barry's Bay
Ontaria KOJ 1BO

(613) 756-3620

(416) 447-8845

(iv) Madawaska Kanu Center
Box 635, Barry's Bay
Ontario KOJ 1BO

(613) 756-3620

(416) 447-8845

® iii

® iv
Correct Answer :-iii
16)

Question Stimulus :-

If SHAPER is coded as TGCNHO then EXERCISE is coded as / dfé SHAPER &I TGCNHO 3
Pifed far &IrdT @ df EXERCISE &1 B9 Sifed foear s



® FWGPFFWA

® FWGPFGWZ

® FWHPFGWA

® FWGQFFWA
Correct Answer :-FWGPFFWA
17)

Question Stimulus :-

A shopkeeper allowed 5% discount on marked price of the tape recorder. If its selling price is 1273 then
what is its marked price? / T® gPHTGR U Rl U ffga #iad W 5% ge @1 3rgufa da1 g1 3R sHST fawt
el 1,273 ¥UTC 3 ol 3@ RIfgd Faa ®n g2

® Rs.1340 /¥UU 1340
® Rs.1240 /34T 1240
® Rs.1140 /30U 1140
® Rs.1440 / 3UUY 1440

Correct Answer :-Rs.1340 / 4T 1340

18)
Question Stimulus :-

In the foIIowing qyesti_on, one term in the number series is wrong. Find out the wrong
term. / A9 Uy ¥, = $R@@1 A TP U Ad 8| TAd US I BIoR|

3,8,15,24,35,49
® 15
° 24
® 35
® 49
Correct Answer :-49

19)

Question Stimulus :-



If 'YINDUS’ is encrypted as 03865, and 'TENNIS’ is encrypted as 243305, then how will you
encrypt ‘STUDENT’? / If¢ "INDUS’ &1 03865 ¥ THfhy fur a1 8 3R *TENNIS’ &1 243305 ¥
Tfery far Tar 8, 99 MU "STUDENT’ &1 &d TATPY H3?

e 5628323
* 5648324
e 5268432
e 5268234
Correct Answer :-5268432

20)
Question Stimulus :-

By selling a chair for Rs. 720, a trader gains 20%.Find cost price of chair? / 720 Wﬁ@ ﬁaﬁﬁaﬁ
BP, TP ATUT BT 20% ATY TIAT 3| F 1 ANTA Yo BT Ul A2

® Rs.700/%U¢ 700
® Rs.600/%UY 600
® Rs.500 /%44 500
® Rs.400/%UUY 400

Correct Answer :-Rs.600 / 3UU€ 600

21)
Question Stimulus :-

A thief steals a car at 10 am and drives it at 60 km/hr. The theft is discovered at 11 am and the owner sets off in another car.
At what speed should the owner runs the car to catch the thief at 12.30 pm?/ T TR gde 10 ol Tdh PR Cal EOE RS 39
60 TP iEer F 1A A & war 81 T & IR H Gag 1 I UaT T & 3R FR BT Wifers 75 fpdieer o nfa 1
TP g0 PR A IR P Udh e FAdadr g1 R T HIfde SR &) fFa-t 1 § gamg aifd a8 qiues 12.30 s IR
P UPS A?

* 70 km/hr/ 70 Torefi /T

® 100 km/hr/ 100 foet/der

® 75km / hr/ 75 feeli/een

* 80 km / hr/ 80 foei/der

Correct Answer :-100 km/hr/ 100 fHt/ger



22)
Question Stimulus :-

What is the chance that a non-leap year selected at random will contain 53 Sundays? / T SHTIT %ﬁ? Srfefirad

&1 9 Tafd T R diu ad o 53 Ifdar g
°* 1/7
° 2/7
® 3/7
® 6/7
Correct Answer :-1/7
23)

Question Stimulus :-

Complete the series choosing the missing number: / AW IWAT FABR 9GaT B TR BIFMT :

1,8,27,64,125,216,
° 343
° 345
° 347
° 344

Correct Answer :-343

24)
Question Stimulus :-

In a 10 kg ghee pack, 60% is pure ghee and 40% is vanaspati. If 10kg of pure ghee is added, then the percentage of

vanaspatiis/ ¥ & T® 10 f&u1 9@ ¥, 60% 5 Ot 3 3R 40% Tt g1 afe 10fFw 3 & &t
frarar sime, 9t aawafa @ wfawear aef

® 15%
® 25%

® 20%



* 30%
Correct Answer :-20%
25)

Question Stimulus :-

[4-2a+5b-(a-b)]-[5a-(3a-(4a+b))] is equal to / [4-2a+5b-(a-b)]-[5a-(3a-(4a+b))]
W ¢

® 4-9a+5b

e 5-9a+4b

e 0

* None of these / Eq'ﬁ I ?ﬁiqﬁ
Correct Answer :-4-9a+5b

26)
Question Stimulus :-

(552/3)x4+(88/11)x9-(480/10)x2=?
°® 732
° 712
° 722
°* 742
Correct Answer :-712
27)

Question Stimulus :-

The population of a town increases 4% annually but is decreased by emigration annually to 1%. What will be the increase
percentage in its population in 3 years?/ Tdh R[gY P SIS # AT 4% B aﬁaﬂ ﬁ?ﬁ % afe qg
YaRATAT GRT YTAT 1% TP ¢ STl 81 3 90l § IgB! s 5e # feaq ufawra agiadt erft?

® 9.1%
® 9.2%

® 9.3%



® 9.4%
Correct Answer :-9.3%
28)

Question Stimulus :-

Complete the following sequence of figures. / Gﬂ?ﬁﬂﬁ & wu & T PIford:

CC D))

Correct Answer :-

29)
Question Stimulus :-

A,B and C can do a piece of work in 20, 30 and 60 days respectively. In how many days can
A do the work if he is assisted by B and C every third days? / A,B 3R C Uh hH P HHI: 20,

30 3R 60 fT # [T BT Tbd &1 BT A P! 50 oW P! fba =1 & W o Toar ¢, afe g8 A o7 39
B 3fR C &1 HguIT A 82

e 15days / 15 &

e 18days / 18 fa



® 12 days / 12%7'[
® 20 days / 20 feA

Correct Answer :-15days / 15 fe

30)
Question Stimulus :-

The series given below contains a sequence of alphabets, humbers and symbols. Identify

the incorrect combination: / 19 & T3 @@ 31eRY T Ww3 BT SIHH TART Hdl 8| Tad T
qEad|

(i) nx72x05%du5jh
(ii) nx72x05%au5jh
(iii) nx72x05%du5jh

(iv) nx72x05%du5jh

® j

® ii
® jv
Correct Answer :-ii

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total humber of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / & SARIPH &M 7 TP Peala gaide § YT Rram| & Wi a= areft S0 3 9t d9i &
fGaTe T 9 Qan T 9 o1 3 3@ siad W) A 3R 0 3id gRA W1 g1 dl & o g & Ad | gl
&l 7 1 9w g1e frw) A aiferesT & gAfde & o & @it Sl g @d v Qal ot $a e, id T
T, TR T QF 3R ST I8 1 $o YBAT BT T Iadl 3| TS W] DI TGP Wial Sis fear Tar 3



Team/ Matches Played/ Points /
&H o AT @ Won/ Std | Lost/ g | Draw /3T H=F
Argentina

EECo 9 5 3 1 16
Brazil /

arefrer 9 6 2

Croatia/

EQNEEY 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

SZEIEN 9 3 4

France/

I 9 3 2

Germany/

FHAT g 4 2

Holland/

Blefs 9 3 2

Italy / Seeil g 4 3

Japan/

el 9 i 2

Which team got the lowest points in the tournament? / frg fm =t Eﬁ? H g9 & 3P fia?

® (Croatia / aﬁ'Qﬁ'I'CIT
® Equator / EE”TI@T
® Holland / ﬁa@f
® Japan / SITUTH
Correct Answer :-Japan/ SIT4rd

2)



Question Stimulus :-

tatl i tan A
If A = 180° evaluate * /3l A =180°, ¢ HTHM I B

* is undefined / ARG g

Correct Answer :-1

3)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &3 SARTEH &4 A T Peala gatde | YN foram y@e HRT o4 arefl &9 3 9t d9f &
foaTe T 9 Qa1 T 9 &1 3 3@ Siad W) A 3R 0 3iF gRA W1 g1 ¢l & o1 $F & AFd | gl
i A 1 3 g1fia frw ) A aifereT @ gafde & s & @it 9 g @d T Qal 9t $a e, S T
T, TR T QF 3R ST I8 1 $o TBAT BT T Iadl 3| FS M| I AHGRIHR W@idl Sis fear Tar 3|



Team/ Matches Played/ Points /
&H o AT @ Won/ Std | Lost/ g | Draw /3T H=F
Argentina

EECo 9 5 3 1 16
Brazil /

arefrer 9 6 2

Croatia/

EQNEEY 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

SZEIEN 9 3 4

France/

I 9 3 2

Germany/

FHAT g 4 2

Holland/

Blefs 9 3 2

Italy / Seeil g 4 3

Japan/

el 9 i 2

For which two teams, the number of matches won were closest to the average number of matches won by all the
teams? / fo5=1 g1 ErY & fg Sfd 7 @i it Iemm wft i g1 <itd R A=l @6t oitva ' & wew
39 A2

® Denmark and Holland /3_-'ITI'I€? ﬁﬁﬁg

® Holland and France/ﬁﬁ?‘:’ Gﬁ? i

® Germany and Italy/ﬁ'ﬁ:ﬁ 3R sz?ﬂ

® Croatia and Ecuador / SPTGIRMT 3R FPISIY
Correct Answer :-Denmark and Holland /@Fl'l:ﬂﬁ? Gﬁ?ﬁa@»’



4)
Question Stimulus :-

A shopkeeper marks his goods 20% higher than the cost price a)nd allows a discount of
5%. The percentage of his profit is: / T& gHMGR AU UM BT 3ifhd oI H9-e7 d 20%
SfRIF TAAT 8 Td 5% BT e P AN a1 81 TP a1H HT ufa=rd fba-n 8:

® 10%
® 14%
® 15%
® 20%

Correct Answer :-14%

5)
Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &3 SATEH &4 A T Peala gatie | YR foram yds HRT a4 arefl &9 3 94t d9f &
fOaTe te 9 Qa1 T 9 &I 3 3@ siad W) A 3R 0 3iF gRA W1 g1 ¢l & o g & Ad | gl
i A 1 3 g1fie fw ) A aifereT @ gafde & o & @it 9 g @d T Qal Ft Fa e, S T
W, R T W 3R TT e Bt $o T &1 Udl godl 8 | S T HY THIHHR Wit Sis faar man g1



Team/ Matches Played/ Points /
&H o AT @ Won/ Std | Lost/ g | Draw /3T H=F
Argentina

EECo 9 5 3 1 16
Brazil /

arefrer 9 6 2

Croatia/

EQNEEY 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

SZEIEN 9 3 4

France/

I 9 3 2

Germany/

FHAT g 4 2

Holland/

Blefs 9 3 2

Italy / Seeil g 4 3

Japan/

el 9 i 2

Which team got the highest points in the tournament?/m N9 i_"lﬁ? ? g9 TSl 3 fira %?
® Argentina / ST
® PBrazil /?SI'IT.rﬁ?[
® France /BT

® Germany/ STHA

Correct Answer :-Brazil / STSlid

6)



Question Stimulus :-

The order of the main steps of nutrition in human are / HTd ¥ qiyor & 9 WON BT HY %

® digestion, assimilation, ingestion, absorption and egestion / U, Eﬁﬁﬂﬂ'ﬂ,ﬁiﬂ?ﬂ?ﬂ,
SaRNYUT, 3T Sfgeuur

e ingestion, digestion, absorption, assimilation and egestion / 3[@<3I8UI, T, 3A=NYUI,
Wifievur, 3R afgayur

e Assimilation, absorption, ingestion, digestion, egestion / IgR1HUI, AR, ARUTUI,
e, sfgagor

e Ingestion, digestion, assimilation, egestion, absorption / 3a=3guI, Ura, TWivi®eor, gfgayur,
NERIE]
Correct Answer :-ingestion, digestion, absorption, assimilation and egestion / 3(dRUgUI,

7)
Question Stimulus :-

Humans & dogs are both mammals. Dogs produce more puppies than humans because / ]9 3R gﬁ gl
WY §. P AW A W1l 9= 9T R § i

® More sperms are produced / STGT Y[hTV] 3UA GRS
® More eggs are produced / STl 3[US I gid %
® More zygotes are formed from one egg / T® 3(US { SATGT g 9 &
® Egg undergoes cell division / 3(Ug H BHIRBT fAUTSH e %
Correct Answer :-More eggs are produced / TG 3US IUA BId &
8)
Question Stimulus :-

A combustible substance burns in air with the evolution of / Th 337{@?[ tIETQf edl H SrerdT % 3R g 3dud

® only Heat energy / Fad T Sl
® only Light energy / Had UPT SHell
® both heat & light energy / &THT 3R UPTR SHull gl

® either heat energy or Light energy / dT q ST St a1 fpR g ot



Correct Answer :-both heat & light energy / ST 3R UHBT it Gl

9)
Question Stimulus :-

Arun was advised to replace his jute rope with nylon rope for his mountain climbing expedition. The reason

behind the advice for the use of nylon rope was/amaﬁamﬁuﬂaanﬂwerﬁmﬁ%ﬁlﬁamﬂqz
QWaﬁm‘ﬁWﬁm@aWﬁmﬁﬂ%lmﬁmemﬁaﬁm
DI DRUT YT

e High strength & elasticity / 3= A SR UTRIdn
* Less expensive & high moisture absorbent / &H Hgt 3R 3ifte T+t sra=nus
e Shiny & sticky / dH®GR 3R fRaferdt
e Light weight & durable / ¥ ¥l 3R fe@rs,
Correct Answer :-High strength & elasticity / 3 I 3R Ul
10)

Question Stimulus :-

Some people experience breathlessness when they visit hill stations because / PO i 1%?[ WYET & g )
I a9 ¥ THel® HegH Hd & HIP

® The amount of oxygen available decreases / TR &t IUARI AT FH E?f STt %

® The atmospheric pressure increases / argnvs?ﬂu (R} q@ HRCICIE

® The atmospheric pressure does not depend on altitude / W@?ﬂ'ﬂ qld Giﬂg R iR qﬁ Bl

® Air becomes denser / dIg 9+ ?f Ik %
Correct Answer :-The amount of oxygen available decreases / TR &t IuUaS! AT FH iﬁ IGil %
11)
Question Stimulus :-

In ‘E"ABC, D and E are points on the sides AB and AC respectively such that DE || BC. If AD

= 2.4 cm, AE = 3.2 cm and EC = 4.8 cm. Find AB. / 2ABC & D 9 E %HI: YoT3if AB § AC IR 39
UeR U 8 f& DE || BC. afe AD = 2.4 9., AE = 3.2 9. and EC = 4.8 ¥, a1 AB 7@ F|

* 3.6cm/3.6 94l

* 4.8cm/4.83Hl.



® 6cm/ 6 Q.

® 8cm/ g .
Correct Answer :-6 cm / 6 9HI.
12)

Question Stimulus :-

The cutting and removal of crop after it is matured is called / HT=I P B P ISP UNUS iﬁﬁ * dTq PpIcHl
3R ge™T Hgardl §

e Winnowing / ®c&Am
e Threshing / 2R
® Storing of crops / BTl ®T A
e Harvesting / 9® &+
Correct Answer :-Harvesting / 9% $dq

13)

Question Stimulus :-

6ab—-b* +12ac-2bc , 6ab-b* +12ac—2bc

Factorise / BT UGS HIfog

(b+2c)6a—b)

(6a + EJ:I{EJ + 2{:]

(6a +5 I{E: — ac:l

(6a +EJ:I'[2c— E::I

TR
Correct Answer :-['E]Jr"ﬂ-}['ﬁ‘J b)

14)

Question Stimulus :-

Pitcher plant traps insects because it / geyuif Bl &t s LGl % e
® |s a heterotroph / g Uh ROt %



® Grows in soil which lacks nitrogen / dg &Iﬁ H Iusidr % \_rlﬁ T'I'IEaFF'T DI AYHTd a_dT %
® Does not have chlorophyll / Eﬂ'ef qﬁ?ﬁ_d T'Iﬁ @Tﬂ

® Has a digestive system / 3'\‘@ UICEIGE Ea_cIT %

Correct Answer :-Grows in soil which lacks nitrogen / dg ﬁl?f H IuSidT % \_rlﬁ HE@T:F[ CaRKIC) Eﬁ_cIT
g

15)

Question Stimulus :-

Ifﬁ=81,thenn= /ITI%E:Sl?ﬁn:

e 8
Correct Answer :-8
16)

Question Stimulus :-

The process of chemical decomposition of a substance by passing electricity through it is called /W tE;'T?f |

fagaa oRT yarfea #& 39 uerd & wrmafe sraues Ft ufthur it Hgd €
* electroplating / fagaa Q=
* electrolysis / fagaa srque+
® galvanization / Aea-TeHUT
* acidification / SITHROT
Correct Answer :-electrolysis / fdgad srage

17)
Question Stimulus :-

Microorganisms feed on dead plants to produce / ﬁ&’qﬁﬂﬂ Hd qrel &1 R S fAuior wvd @

e Silt /TTq



® QOre / Ag¥h

e Humus / 8YHd

® Mushroom / AP
Correct Answer :-Humus / ggHd
18)

Question Stimulus :-

The main excretory product in human being is /IITjQﬁ DT J=A IS IS &

e Urea/gfar

e uric acid / gft® 3
e Ammonia / 3T
e Salt water / 99Ul STt

Correct Answer :-Urea / gfar
19)
Question Stimulus :-

Find the edge of a cube, which has a volume of 512 cm3 / 39 99 BT fpaTT ITd ﬁﬁnz, ST 3mad 512 It

3%|
° 8cm/8'\q1ﬂ

e 9cm / 99

83 cm / 83 T

e gm/8HI}
Correct Answer :-8 cm / 8 9H!
20)

Question Stimulus :-

Symbols of all units are written in a specific way. Choose the right ones / Tt ng'iﬁ ¥ fgl @ v falkw
T | ferar smarn 31 |8 &1 99T B



® 50km
® 50Km
® 5S0kms
® 50KMs

Correct Answer :-50km

21)
Question Stimulus :-

It is easier to drag a brick wrapped in a Polythene because polythene / uiferd= # forudt §€ 'QIE' Cal
TRITEHT 3 g Fife uiterdi=

® Has less friction /ﬁ' HH gy '&ﬁ?lT %

® Requires more force /ﬁ SOTeT 99 P ATagHdl ﬁ?ﬁ %

® Does not need any friction /ﬁv_\‘ﬁ gyur &1 o Yd qﬁ ﬁ?ﬁ

® Produces more friction / SUTGl qYUT AU Bl %
Correct Answer :-Has less friction /ﬁ: HH guul ﬁ?ﬂ %

22)
Question Stimulus :-

If the diameter of a circle is 25 c¢m, find the radius / ?-Tﬁ' qd Pl A1 25 I+t %, a 3'\"1?‘?[ ES ITd BN
e 50cm / 50t
e 25cm / 259t
e 75cm / 759t
* 12.5cm / 12,5 GH

Correct Answer :-12.5cm / 12.5 9H}

23)
Question Stimulus :-

The number which is divisible by 2, 3, 4 and 6 is / 98 9B S 2, 3, 4T 6 A fauTSa 81

® 64568



® 65678

® 68928

® 64928
Correct Answer :-68928
24)

Question Stimulus :-

A dog takes 3 leaps for every 5 leaps of a hare. If one leap of the dog is equal to 3 leaps of the hare, the ratio of the
speed of the dog to that of the hare is: / TP Pl Bl 3 meaﬁ 5 I %W%I uﬁﬁm
TH DA GNR & T SANT & U g, $W Bt A BT SJUTd BRI B Tfd & 1Y &

Correct Answer :-9:5

25)
Question Stimulus :-

ABCD is a square with side 5 cm. What is the area of the triangle ABC? / ABCD U&% &l g forqat yeir s 9ft

21 BIPIur ABC &7 &% a @ gm?
o 25cm?/259H} 2
e 5 cm2/5 I 2
* 6.25cm?/6.25 Qw2
e 12.5cm?/ 1259w 2
Correct Answer :-12.5 cm?/ 12.5 GH} 2

26)
Question Stimulus :-
Ten international teams participated in a football tournament. Each participating team

played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point



each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank

intentionally. / ¥ SATEH &4 A T Peala gatde | YT foram yds HRT A4 arell &9 3 94 d46f &
foaTe T A9 Q@ar T 9 $1 3 3@ oida W) A 3R 0 3id gRA W A Sl & ol 3 & Arma | gl
i A 1 3 e fpu| A arfereT & gafde & oid & 9t S0l gRT @a T Wi @t o H@AT, Siid TT
WA, R T W 3R TT e Dt $ T &1 Ul Iodl 8 1 S T HI THGHHR Wit Sis faar wn g1

Team/ Matches Played/ Points /
fF" e T @ Wen/ Std | Lost/ gX | Draw /3T F
Argentina

EECo 9 5 3 1 16
Brazil /

greirer 9 6 2

Croatia /

PITRRIT 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

EZEIEN 9 3 4

France /

I 9 3 2

Germany/

ST 9 4 2

Holland/

QCE 9 3 2

Italy / Seeir g 4 3

Japan/

ol 9 i 2

Total how many matches were played in the tournament? / $d fpaa A9 Eﬁ? RG] mg?
® 81
e 72

® 55



e 45
Correct Answer :-45

27)

Question Stimulus :-

The variety of organisms existing on the earth is referred to as / Tt W faTm™ 5 fHwl & oilg 59 Afdy
B 8

e Biosphere / g HEd

® Biome / SiaH

® Biodiversity / wa fafderar

® Ecosystem / LIIEGE]
Correct Answer :-Biodiversity / 939 fafqerar
28)

Question Stimulus :-

A cell may be described as /waﬁﬁmmavﬁwwﬁ%mmm%
* Too small to be seen with our naked eyes / THRI Gelt 3TE | ¢@ UM & oy §gd ot BIdt 8
e Containing hereditary material / /¥ 3mgaifre wmrst @
® Consisting of cytoplasm & nucleus / PP g7 MM Fxbp T8
® The basic structural & functional unit of life / Sifa< 1 & JTATHD 3R uref 3HTS 3

Correct Answer :-The basic structural & functional unit of life / Sa= @ Ja TS 3R WS

TP ©

29)
Question Stimulus :-

Choose the statement that is wrong about sexual reproduction / o+ YI=died ¥ faug & 39 FY7 &1 99T
®¢ o TAd §

® Male and female reproductive organs are different / (9 Td ufgenm & TR=ddig 3T Amga g
® They produce gametes /% JiHDd P Il Fd %
® There is fusion of male and female gametes / J3=9 Td Hfgar 'QTFIH’J[ PT AFRIYOT BT &



® There is no zygote formation / aﬂ's‘ g ferafor &l 3-1_\'" %
Correct Answer :-There is no zygote formation /T?Ig' gl frafor ad arar 2

30)

Question Stimulus :-

Ten international teams participated in a football tournament. Each participating team
played one match against all the teams. A team was awarded 3 points on winning and 0
points on losing a game. In case of a draw between two teams, both the teams got 1 point
each. Following table shows the total number of games played, games won, lost and drawn
by all the teams at the end of the tournament. Some cells have been left blank
intentionally. / &3 SARTEH &4 A T Peala gatie | YN foranl y@s HRT A4 arefl &9 3 a4t d9f &
fOaTe T 9 Qa1 T 9 &1 3 3@ siad W) A 3R 0 3iF §RA W1 g1 ¢l & o g & AFd | gl
&l 7 1 o gia few) A aiferesT & gafde & sia & it Al g1 @d T Qal ot $a dBT, Sid T
Qd, BR T W 3N IT 3@ B! $o T-AT ST UdT Iadl 8| O WHI & TGP @rail BYs faar mar 31



Team/ Matches Played/ Points /
&H o AT @ Won/ Std | Lost/ g | Draw /3T H=F
Argentina

EECo 9 5 3 1 16
Brazil /

arefrer 9 6 2

Croatia/

EQNEEY 9 2 2

Denmark /

SIS 9 3 3

Ecuador/

SZEIEN 9 3 4

France/

I 9 3 2

Germany/

FHAT g 4 2

Holland/

Blefs 9 3 2

Italy / Seeil g 4 3

Japan/

el 9 i 2

What were the average points earned by all the teams? / gt St gkl Jfefa ofra si T A2
® 8.7
® 10.5
® 123
® 134

Correct Answer :-12.3



